MRS R Z

5 = A 7 A i =
{4 4 JIREET HE PN Bk SR BUR it
% B0l = ER R A | R — H1PY
(BA7: M)
ENE & 2] (S
ML CLAE) o e | Ee | AL s | gz
1 |BmAGE S 3,900,000 | %ALAL
2 |BAFORRAE TS IS 3,870,000 1 AL E
3 | uh R R bRt t 4,000,000 | &FLA:
) %ﬁé%ﬂ?'?ﬁé%ﬁﬁl¥ JIl e 2 4,050,000 | TALSH
5
6
7
8
9
10

R IH A B O T BB S B IR L= &8, )1

A HF AR

A

L% Br

AFLTE: LA A%
(HEBEET)

AFLE LA A%
(HEBEET)

SERil (= 7 A 28
JIBERT 25 35 3P 53023 SR
(P EfMiA%) % 3.878.,000
(B B PRA A% % _

=3
bl
-

H

M

BT 2 FH BRI B BOA AR D fidg T D,

L1FE3047




